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at | §p| = 2RI FH O AH(A) 1R} o 2H(B)
(LINCH) ALB| HE S ALY J|Et RS 298| (ZY) (34,851,478)
MOt F g AZZs SIAIX| ALY J|EtD|2YH| 37,800,000
(SR8 )AHAAY 7| Bt 25| () (221,013,916)
(S A378)AHA+ALR 7|Ef IS 2HH|(ZHY) (61,591,870)
(LINCH) ALB| HE S ALY J|Ef RS 298| (ZY) (15,314,241)
2 A 860,881,165
(3) 7| EFX| 2l Z AL ] 1,149,645,000 1,137,139,000 12,506,000
7. 7| EFX| 2l 2 AL 1,149,645,000 1,137,139,000 12,506,000 |T2lAtZtoi2lo|Z! 401,000,000
UFA| AU CE ST HEX| M E 409,700,000
UFAl RotEFUSME 243,605,000
AAESME 2FXHZ(AHYIT) 8,800,000
HUESHE 2AXAZ(2AFHEA) 20,534,000
HEESHE 2HX|AF(S7|F) 44,000,000
HYUESHE HX| ST 2OBAIRY(HY|E) 9,500,000
EE5t BN SEAA(S|HFEA]) 8,500,000
T2 AFZO{ 20| F (SH) 4,006,000
2 A 1,149,645,000
3) 2t H| Al H|H Z R EN 262,635,217 245,111,047 17,524,170
(1) el x| H| 4,000,000 4,000,000
7t.olzdd|
L ofets EM 2 4,000,000 4,000,000 wmEAFIME = 4,000,000
(2) x| H| 33,400,000 33,400,000
It 7| S 5H|E 33,400,000 33,400,000 Aretpiaich M 93 HH| 5,000,000
Atetp{ct 2YH|(2HEL|) 3,000,000
o1 7 2ha| 4= EH(21200,000% 128 ) 2,400,000
QIEV| 2 2| 2HH|(IE 5) 5,000,000
s 2 Moju FIH|(EFH| =8 7,000,000
AbstsiEich §o|3| oi3|H| 2 2,000,000
SIALAL Y AEFFE(MEEZFES) 7,000,000
SIAZZOY ALE 2 MB{H k| 2,000,000
2 A 33,400,000
(3) M ztgg x| ey 3,000,000 3,000,000
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el = 2RIZZ of A4(A) 1% 0l 2H(B) = S -

LE X AR ALH E A4S S 3,000,000 3,000,000 WA XAMMA B 3,000,000
(4) 7| ELX| H| 222,235,217 204,711,047 17,524,170

7}. 7| EFX| §H] 222,235,217 204,711,047 17,524 170 |S2AY ME mZAF 3,000,000

(A7) AHAALYY 7| EFX| H| 106,000,000

(2378 ) AHA+ALR] 7| EFX| 2lH| 82,800,000

(LINCH) ALEI HE S ALY 7| EFX| 2lH| 94,390,000

(S A1578)AHAAFY 7| ERX| @lH|(ZHeH) (33,766,083)

(SHA3FE)AHAHALR] J|EFX| b (Z+oH) (32,800,000)

(LINCH) ALB| S E S ALY 7| EFX| 21| (Z4Y) (14,912,870)

(S A1578 ) AHAAFY 7| ERX| 21H|(ZHoH) (8,650,000)

(S35 8 ) AHA+ALRY 7| EFX| H|(5H) 18,231,670

(LINCH ALB| A ES ALY T|EFX|IH[(ZH) 7,942,500

2 A 222,235,217
4)ddtgta|d|sZ 7 EN 157,770,000 126,970,000 30,800,000
(1) dgtztz]d]| 157,770,000 126,970,000 30,800,000
7}, 2lH| -

Ll ebr| | 157,770,000 126,970,000 30,800,000 |2|F9IE7| 2 M ZH| 52,000,000

HAESME WHE 6,360,000

AAHSME HA 29| 31,200,000

HAESME MRz 52 3,600,000

HEESHE ZesSg7| dER 2,400,000

HUESME QU ABE 4,800,000

HEESHE HeT| #ald| 3,000,000

HAESME EH0|X| FXEFE 720,000

HEESHE X GX2AA| M A 9,000,000

HAESHE MAL(LF7]H X S) 10,000,000

A solz| x| eAy| 1,000,000

St 7| o (Ml i) & | 120,000

St 7| (82 M | 20,000

MEHHEE MEXE =2 2,750,000

HUESME MIoi2| =F2(5NH) 800,000

HAESME MAL(LAF7H X S)(E 10,000,000

2 S EV| 2 HZHH|(SH) 20,000,000

2 A 157,770,000
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(2t &)
4 = 20218| A = 20213| A ¢ = - = o
— =) = Al =) = Al EE(A_B) a =
el = 2X12Z 0l AH(A) 1245 Z 0 2H(B)
Ct. E| 2 =04
gt XgFsR
o} M g1tz 3t
5)2doH 833 R EY 14,500,000 18,400,000 |- 3,900,000
DEEETE 14,500,000 18,400,000 |- 3,900,000
L M| REE A
FEEEEEEE 14,500,000 18,400,000 | - 3,900,000
EPEE
By
2 A
6)stms| AN EZ I T EN 220,000,000 100,000,000 120,000,000
ODEFREERES] 220,000,000 100,000,000 120,000,000
ot Stms|ANES 220,000,000 100,000,000 120,000,000

4,456,326, 746

3,020,511,047

1,435,815,699

(&7 28AEETL
(2RI EAE SAIAE SA| B
(3)EAIZEAIK &

(2) 7| EF= AR = ALK &

4,454,326, 746

3,020,511,047

1,433,815,699

1,795,804, 360

896,322,446

899,481,914

9/11

o

Ho

=
HE

x

(
(=
(LI 78]
(< M| (HA)
(= MH|(5Y)
(LI M| (H)
(= [(ZH)
(= SEZIH M| (SH)
(L WA M| (ZA)
g L]

&~ A 1,795,804, 360



20218 AL 2% FIIAE o ARM (§ 20f| AHA)

=71 20214 03% O1LFE 20224 02% 28U 7tX|

(2t &)
5 20213| A H = 20213|H A =
e - 2R 20 AH(A) 1% 20 0] £(B) =l i =

(3)TAHEZFS

(4)71H7| 735 2,152,830,618 1,810,158,771 342,671,847 |(SA178)AHAAE Z1HIZ|F+ 35 1,009,790, 000

(HA3FE)AHAAL Z1AH 7|2 F S 140,114,000

(LINCH) ALB| U E S ALY 7|H 7|7 XS 600,832,000

Do J|AZTE FHS 5,000,000

SEWSIEI|STEY I|1H7|F RS 29,700,000

(SHA1FE)AHAAR Z|1HI7| T FS(BNH) 137,706,820

(237 ) AHAAL ZIAIZ | FS(EH) 4,090,080

(LINCH ALS| HE ALY Z|HZ| T FS(LH) (117,074,129)

(S A1FE)AHANR 2|1HI7| T S (EN) 200,938,018

(HA3TE)AHAALY Z|AH 7|7 FS(SH) 54,054,090

(LINCH AR HE S ALY 2IAHZ |7 FS(5Y) 74,637,739

HUEFME Mo|LA 1A 7| FE 15,000,000

TEWSUEI|SXSY TIAHZIF FS(HA) (1,958,000)

2 A 2,152,830,618

(5)E7IH|ZFHE 505,691,768 314,029,830 191,661,938 |(EA178)AHAAIY E7IHIE S 197,000,000

(SHAM3FE)AHA+ALY RID|H|E F S 17,880,000

(LINCH A ESHAIY R7[HIE 2 S 167,664,000

oW FIHIE FS 2,000,000

(S A178)AHAAEY EID|H|E F|S(ZY) (26,000,000)

(HAZFE)AHAMALRY EIV|H|E F|S(SH) 3,580,000

(LINCH AR HES ALY R7|H|E FS(ZY) (48,094,170)

(HA1 78 )AHAAY ZIJ|H|E FS5(5NH) 123,939,358

(HA3FE)AHA+ALRY RI7IHIE FS(35) 25,286,000

(LINCH AIS| HE ALY E7|HIE FS(ENH) 29,436,580

HAESHE Mo ETHIE FS 15,000,000

Wl FIHE FS(HY) (2,000,000)

2 A 505,691,768

3) FHXIMF SEX| & 2,000,000 - 2,000,000

(1) X| A x| A F S 2,000,000 - 2,000,000 |S35|5=H| 2,000,000

(2) 70 | 3| S
(3)7|EtR2 ERIMH &
3 FEEoZ0IGHHIREN 24,000,000 24,000,000
1) £x) of At 24,000,000 24,000,000
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